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Eighth Semester B.E. Degree Exami feb./Mar.2022
Operations Ma t
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Note: Answer any FIVEfull questions, sefuiiT pg atleast TWO qaesffifrom each part.

10M881

(12 Marks)

(10 Marks)
(10 Marks)

-. 
. PART-A

I a. Write a note on the historical d.ev,gffiment of Operationsa. Write a note on the historical dp+g&ffiment of Operations
b. Explain the Job r.!op. pro&l&ein and Batch producti

gement. (10 Marks)
ystem with its advantages ,ii. ; -t

limitations and applications* g.r (10 Marks)

2 a. List and explain stepffiffiision making proces{::-'* (06 Marks)
b. Old - Fashioned Bsrfy Pies - Lmt., current$i 

*dperates a single bakery, but it is not
.o*il.ioe ; ffiffitrry-=to,cui*, * ;;;; r4gpii,& #tt. ril owaer estimates that fixes cost
would be Rs 3@ofteek and that labourpffi*ffiilaterials to produce pies at the location will be
Rs 0.60 pe.r?l Pie be sold for Rs 1.60 Wh.
1) Wh-at'ih+g'rber of pies must be sold,*o break even?
ii) \$$f6tprofit (or loss) would thgle_ be on sales of 20,0,,Sp pies in one week?ii) \$fiEtprofit (or loss) would Bbp*b. on sales of 20,0,,Sp pies in one week?
iii) ,&l|mat'volume would be remMH'in order to realizep ptont of Rs 12,000? (07 Marks)

c. Three plastic injection mouldffimachines produffi,lre following number of goods and
defective cassette coverspre'Shown in the tablffiffifur the total lo{wfficassette covers all
mixed up and delivered &om three machines, rnqlmfi is the probability*t[at ,,,,,, \ . lffii) A cassette cover pfl$&gd up is defective*. * i" n * *'o

ii) A cassette cover picked up is made b,.yMqchine C and good. *

iii) A cassette covglicked up is either.p{i ced by Macbiffie or it is good.

MaehineA Machine B Machine C
Good '900 4500--.:.. 5400
Not eood i;'1oo 50f i, 600

a. ,Discuss the Delphi;T+Efinique for better forecasting. Mention its advantages and
,* disadvantages. " 

) (08 Marks)

&ffieq*fhe actual demapd fol an item produced$ the Lenovo exports for the last eight weeks is*'ilgiven 
in the fu* fu table. De.velop an simple exponential smoothing (cr:0.1) and

adjusted exp;$ffiStial smoothingffi0.1, B = 0.8) for the 9ft week. Begin with a previous
period forecast,hs Rs 650 and ar$iftitial trend adjustment of zero. Take the actual demand for
itre g* *eek as 780 units. Alsg.,cdiculate MAD for both methodology.

4a.
b.

r,.il\.r

Write a note o-rffirminants of effective capacity.
Explain tne m influericing the plant location.

l*t"tu ""

I of2

Week f =,ii},, 2 J 4 5 6 7 8

Demarrd;: 700 685 648 7t7 714 728 754 762



5a.
b.
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PART-B + 'Y

Discuss the nature and scope of Aggregate planningl$&-- (08 Marks)

Ohio Instruments Company is manufacturing rry-q#"tlft. calculators in its plant at Ohio and

has no subcontractors available but offer Ofi.ti**t$mployees and encourages customers to

back order. Each of the following 12 periodJrffip0 working days and4orypany maintains a

constant work force of 40. .l'.ry*iu
Available initial inventory = 100 (incffiif period 12 demand).

RT hours = 8 hr/day ; OT hours :4tr.lday.
Standard labour hr per unit = 10 ffi 1 ; 

..,.'t::,,. 
''"

Costs : ;.
Labour : RT = Rs 6/hr ; O #.sflqAr. u'=1

Material & OH = Rs 100/ufiiis.,produced. s
Back order costs @ Rs,${lrnit $eriod and increases iri"r.gyerse order.
Inventory carrying cqeQg ffi 2lwitperiod.

6a.
b.
o.

Inventory carrying tqgffi=$3 2lurnit period. 
uij*-',,,

Assuming 5 period cff*H A ansportation approach.
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List and explain the tffiVf Inventories. ,*uwF (07 Marks)

A stoekiest has tp supply 400 units of a,"product every wgsl;.to his customers. He gets the

produet at Rs S&1ier unit from manlilfa@tiir'ar. The cost of-btdering and_transPortation from
the manufactffiis Rs 75 per orde-r;"%he cost of carrying inventory is Rs 7.5% per year of
the cost of thp product. e 4

(08 Marks)

(12 Marks)
(08 Marks)

(06 Marks)
to the Supply Chain

(08 Marks)
(06 Marks)

an t
Period Units Period Units

I 800 d;.7 400
2 560$ft 8 600
3 700* 9 1000

4 '{. 900 10 700

s={, *400 ll "gw,ffiory1 300 t2
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